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MATH 240, Exam #3 Practice, Summer 2017 Name K [:_\l

Instructions: Show all work. Answers without work required to obtain the solution will not receive full

credit. Some questions may contain multiple parts: be sure to answer all of them. Give exact answers
unless specifically asked|to estimate.

1. Find the volume of the solid under the function f(x,y) = 6|~ 2y on the region bounded by
0 <x<4,0 <]y <2 using a double integral. (9 points)
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anging the order of integration. Sketch
d evaluate the integray, (8 points)
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4. Evaluate the integral f; % 16—xzf0“ o 1+x;+y2 dzdydx in cylindrical coordinates. (10 points)
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5. Setup aniterated integral to find the area of the region boumﬁled by5x -3y =0,x+y =4,
¥ = 0. Evaluate the integral to find the area. (10 points)
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6. Use a double integral to find the volume of the indicated so iF: z=x+y,x%+y? =09, first
octant. (10 points) B
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7. Find the area of the surface given by f(x,y) = 5 + 2x — 2y over the region R: rectangle with
vertices (?'0)' (Z: 'OL)' (3,1),(0,1). (10 points) i
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Find the mass and centroid of the center of mass of the lam

a bounded by the graphs of the
xy. (15 points)
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9. Find integrals fo
density p(x, v, z

10. Find the volume
(10 points)
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) = kxyz. You do not need to integrate the 1

[ ko (o)

i -

Uy (KD d

,0<y <3,0<z<4}with
. (10 points)

Ay i

of the solid between the cone z = \/x2 + y

W d\) JO (}.ui

A

| * W
Q):‘Z/ﬂi ({:‘ (Jf@ h {‘f z. S

ch

L O d -

1\7? 1 J_
(¢ Q \ — XU },;7- V
4} \

Luu{— Dt

1
Wiz s dip -

%'L"‘>

1 —

and the sphere x% + y? + z? = 12.

P ==

AL 50eq dOdy

ltcﬂ\\"* (- V)




3 1_*_w?;__L[
/ ZX*‘I '1 - p

%2 afd—n2_2
11. Convert the integral foz foﬂ_x Jy Y K2+ y2 + 22 dzdy dx to spherical coordinates.

Evaluate the integral. (10 points) /\ f')
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12. Use the change of variables x = %(u +v),y= %(u — v) to pvaluate the double integral

JI; In(x + y) dA over the region bounded by the parallelog am with vertices at
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